


� 25 + 324 + 75 + 76 = 600,
� 2 · 2 · 2 – 3 = 32 – 3,

� 25 · х · 4 · 3 = 300,

� 17а + 23 + 46а = 86а,

� 15 · 470 - 270 · 15 = 3000.
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Повышенный уровень

1) 369 : 3 = 123 (з)- сосчитал Ваня.                                                
2) 369 + 45 = 414 (з)- увидел Сергей. 
3) 369 + 123 + 414 = 906 (з)
Ответ:   всего сосчитали 906 звезд.

                                      Средний уровень

    1) 17 · 5 = 85 (м) – увидели 5 уч-ся.
    2) 12 · 19 = 228 (м) – увидели 19 уч-ся.
    3) 85 + 228 = 313 (м)
    Ответ:  всего сосчитали 313 метеоритов.

                  



3 т 60 кг =     ?      кг36003025 м = ? км  ?  м3 254 ч 20 мин =    ?   мин26098 см =    ?   мм980290 дм =  ?  м29


